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aEEHRB0ESe A PREHT S AP BT PRA B SR EE B A
PR B EM=( 82,200 — 26,000 ) X 0.234 = 1000 = +13.15
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PR EAEEM=( 82,200 — 26,000 ) X 0.227 = 1000 = +12.76
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PRHERAEEM=( 82,200 — 26,000 ) X 0.213 = 1000 = +11.96
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Y RmEE 62,735 F/kL 82,572 M/kL
FHLNGIEHE 58,282 M/t 132,509 M/t
T E G AmE 8,873 A/t 53,189 A/t
I PRFHEAE 26,000 M/kL 82,200 M/kL
FHREHEROHE AR

F IR RMTRE = T FRIMEE X o +FHINGHER x 8 +FH A REE % v

a: 0.1543

B: 0.1322
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TR E 82,572 H/kL a : 0.0406
EHLNGI 132,509 A/t B : 0.0982
TR R 53,189 A/t Y : 1.2015
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EEPRMEM = BEETSEM
&mE 0.205 F/kWh | 0.162 FH/kWh
HRIEE | 0.200 H/kWh | 0.158 F/kWh
B BT A S 2
X 0.205 -— 1000 = +1.00
B BT R A S
X 0.200 -— 1000 = +0.98
BT GELDEEET
x  0.162 = —0.41
BT GELDEEET
x  0.158 = —0.40
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